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1. Factor each of the following polynomials into linear terms with integer coefficients: i [ A4

{Q h(x) = 2x° —3x2 —8x —3
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2. Sketch a rough graph of the following rational function made from the functions in the previous problem. Clearly

(20pts)

label any roots (R), y-intercept (YI), vertical asymptote(s) (VA); horizontal asymptote(s) (HA); Slant asymptote
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(SA); and/or holes (indicate with a hollow point).
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4. Find a polynomial m(x), with integer coefficients that has x = —2 + V2 and x = 2 as roots, and a
leading coefficient of 3. The final answer must be in ‘expanded form,” (not factored).
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5. Solve the radical equation: v4x —3+2x—-1=0 \,’LX ‘th\' 1K _\D
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6. Find the inverse of the function y =2**7 +5
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